Question 1. On the practice exam you had "O grants to A+B (brothers) and then A grants to C."  In the instructions, you said that there was a presumption that a grant to two people who were not husband and wife was a tenancy in common. However, in the answer, you said that A and B had a joint tenancy that was severed when A gave it to C.

On the practice problems you had "G grants to A for life, rdr to A's children, but if none reach the age of 21, then to B's heirs."

Assuming B and A have died, with A leaving two children who are over 21, you have in the answer that the brother's have a joint tenancy.

If it is unclear what the relevant assumptions are, should we use the common law rule of presumption of joint tenancy or the modern rule of presumption of tenancy in common? I had been presuming that later, but it seems like you have been preferring the former.

Answer 1. You caught me; actually you caught me twice. When I gave that set of objective questions (what you call the practice exam), I did not have a reversal of the presumption of joint tenancy as among the changes. Then I changed the assumptions and forgot to change the answer. The answer that I give is still correct because any joint tenancy would be severed by A's conveyance. It's probably not correct so far as E is concerned. If common-law dower exists she would be entitled to it if the initial grant was a tenancy in common. I really need to change the problem.

So far as problem 16 in the Materials is concerned; technically my answer is correct because you were not given a statute reversing the presumption. I really should change this one, too.

For purposes of the exam what I have on the instructions (no. 5) will prevail. There is a statute reversing the presumption. If there's a question asking about the application of a specific statute, I'll give you the statute.

Question 2. I’m having trouble figuring out when something is an alternative contingent remainder vs. an executory interest.

Answer 2. Definitions: (a) A remainder (be it contingent or not) is a future interest that _may_ take effect upon the natural expiration of the preceding freehold estate.


(b) An executory interest is a future interest that _cannot_ take effect upon the natural expiration of the preceding freehold estate.


Since the only freehold estate that is at all common today in the US of A and that has a natural expiration is the life estate, look for a life estate and ask yourself the question: could this take effect upon the death of the life tenant?


Example: To A for life, remainder to B if she is 21. Could B take when A dies. Sure, if she’s 21. B’s interest is a contingent remainder.


Example: To A for life, remainder one day after A’s death to B if she is 21. Could B take when A dies? Nope. There’s a one day reversion in the Grantor. The Grantor’s reversion is a fee and has no natural expiration. Hence, B’s interest is an executory interest.


Alternative remainders are a bit more complicated.


Example: To A for life, remainder to B if she is 21, if not to C.


Rule of thumb: If the first remainder is a contingent remainder, the alternative will be one as well.


Example: To A for life, remainder to B, but if B fails to reach the age of 21, remainder to C.


Here the remainder in B is vested subject to being divested by B’s dying before she is 21. B’s remainder is a remainder in fee. Hence, C’s interest must be an executory interest, since it takes effect by cutting short B’s fee. Rule of thumb: If the first remainder is vested (or becomes vested), then the alternative interest will be an executory interest.
Question 3. In Brown v. Baptist Church of Woburn, as we understood it, the deed was: O --> Church so long as used for Church, then --> A. All rest --> B. A is out because of the rule against perpetuities. So the question was whether the possibility of reverter is to O’s heirs or to B. In the case, it went to B. Is this the majority rule or the exception?

Answer 3.  The Brown case enjoys a wide following, in the sense that courts and commentators around the country assume that it states good law. Since you ask the question, however, I checked on Westlaw, and I can’t find any case that cites Brown in which it was necessary to determine whether the heirs at law of the holder of the possibility of reverter or his/her residuary legatees got the reverter. My understanding is that the rule in England still is that possibilities of reverter pass only to the intestate heirs, but English law of future interests has been so radically revised by the Law of Property Act of 1925 that it’s quite possible that the issue can no longer arise. I think it highly likely that any US court confronted with the issue would follow Brown because of the modern tendency to favor free alienation.

Question 4.  One of the ways a future interest is executory is when it follows no preceding estate. Could you give an example of this?

Answer 4. I can’t because it is a definitional feature of the future interest that it follows a preceding estate. The characteristic of executory interests is that they do not follow upon the natural expiration of a preceding estate.

Question 5. O-->A for 100 years if A so long lives --> A’s heirs. What is O’s interest (if anything)? Our thought was that O could have a fee simple and has leased it to A, until 100 years or A dies (at which point it transfers to A’s heirs). Is that way A’s heirs have an executory interest, because it is unnaturally ending O’s interest in the land? Are the Terms of Years in Leases considered preceding estates?

Answer 5. A term of years even a very long one is a non-freehold interest. Someone must always have the freehold. O has the freehold (because he didn’t give it to anyone). In normal parlance. O is the landlord, A is the tenant. While one might interpret this grant in different ways, the normal way of interpreting it is that A’s heirs take the freehold upon the expiration of the term or its determination by the death of A. Since the interest in the heirs cuts O’s fee short of its natural expiration (which is never), it must be an executory interest.
Question 6. When G -> LE A -> rdr B’s surviving children. B has a child, C. Why does C have a vested remainder subject to open? If C dies before A, then does the vested remainder become a contingent one. In this situation what interest does G have?

Answer 6. What C has depends on who’s alive and what ‘surviving’ means. So long as all of the possible people whom C is supposed to survive are alive, C has a contingent remainder, contingent on his/her surviving whomever s/he is supposed to survive. (It’s also subject to being cut down [we don’t normally say ‘subject to open’ when the remainder is contingent] by B having more children. Once you decide who it is that C is supposed to survive once s/he does so, s/he has a vested remainder. It will be subject to open if B is still alive (because B is assumed capable of having more children). If surviving means surviving G and G dies, C has a vrso. If it means surviving A, C becomes the owner of the property, but, under modern law, we might subject C’s interest to an executory interest in B’s unborn children. If it means surviving B, and B dies, C gets a vested remainder; all possibility of open is now removed. If C has a contingent remainder, G will have a reversion (and so will his heirs if G is dead). If C has a vested remainder the reversion disappears.

Question 7. Additionally, how does this situation differ from G-> LE A-> rdr B’s children. Is the “surviving” language in the first instrument superfluous?

Answer 7. No, for reasons described above. This grant creates a vested remainder subject to open in any child that B might have. It’s contingent only if B has no children. 

Question 8. Are we supposed to know doctrine of worthier title?

Answer 8. Not for this exam. See the instructions.
The next two questions are from your E&FI problems you posted on your website.

Question 9. O conveys land “to A for life, remainder one day after A’s death to the first son of A living at the time of this grant to attain a college degree for life, remainder to E.” A has three sons at the time of the grant B, C, and D.

Why are B, C, and D’s interests not invalid under the Rule Against Perpetuities?

Answer 9. Because the contingency must occur or fail to occur within the lifetimes of B, C, and D who are all lives in being at the time of the grant. What saves it from being a perpetuities violation are the words “living at the time of this grant.”
Question 10. A and E now convey all their right title and interest in the land to C. B attains a college degree, the first of the three brothers to do so. A dies. What is the state of the title two days after A’s death?

Why does this not qualify as a merger and destroy B, C, and D’s interest?

Answer 10. Because B, C, and D’s interest is an executory interest, made so by the fact that it cannot take effect immediately upon the natural expiration of the preceding estate. Hence, the interests are indestructible. Merger probably would occur so far as C is concerned. He acquires a present possessory fee simple, but his fee is subject to defeasance if either of his brothers gets a college degree before he does. B did, and C is out of luck.

Question 11. When O conveys a life estate to A, with an alternative contingent remainder in B, and a remainder in C, why does O have a reversion? In what circumstances where O conveys a life estate to A does O not have a reversion?

Answer 11. O->l.e. A->rdr B if he survives A->rdr C if B does not survive A. It looks as if there is no room for a reversion, but there is. If A forfeits his life estate, he’s still alive. We don’t know whether B is going to survive or not. Since there can’t be a gap in seisin, we have to have a reversion. (Don’t ask the question what happens if it’s worded “B if he survives A or is alive when A forfeits.” There’s still a reversion, and you have to say that it’s there as a matter of policy, so that O and A together can destroy the remainders if they want to.)

